
3349 das Kor

* 2. 5. x + 52= x2+ 10x + 25
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+ 2-3.a+ 32= a 2+ 6a+ 9

x2+ 2- x.y + 62 = x+ 2xj +6

x
2

- 2. x - 1 + 1
= x2- 2x + 1

a - 2. a- 6 + 62 a- 7 29 + 36

x
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-2- x. +j= x- 2x8 + 2

222= x
*
-Y/W

*
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- R= x- 1

x - 3

2x+ 2. 2x- 3 + 32 = 24x2 + 12x + 9 =
4x212x + 9

BxR- 2: 3x . 5 + 52= 32x2- 30x +25 = 9x2-30x+25

22 2- 20 . 26 + 2b= 2232+ 8ab+ 222 = 45 + 8ab +45

(aq2=
2a292=Ya

2
- 8

72 2-7- 3r+B 49-425 +
32= 49-422 + 922

702-282: 18-228= 16--482

&x
4
+ 2-2x38 +35=

22x+ 2x8 + 3%2 = 4x+2x8+ 982

a
?

- 4b= a2-4232 = 02- 1652

x42 2x2 +j= y- 24 + jk
=

x-2x +I


